Book_Chapter	Author(s)	Authored	Publisher	ISBN	Туре	DOI
Portrayal of Sustainable						
Development goals through Non Governmental Organisations	Dr. Ritu Bakshi &Juhi Gupta	Edited	Jyotikiran Publication	978-93- 94819-09-2	Internationa	10.5281/zenodo.710431 7
Women as an Environmental Activist in Resolution of Environmental Conflicts: A step for a Sustainable	Dr. Ritu Bakshi		Kanishka	978-93-		
Environment	&Juhi Gupta	Edited	Publishers	93066-66-0	National	NA
Technology Enhanced Assessment (Tea) in COVID- 19 Pandemic: Solutions for Future	Dr. Ritu Bakshi, Ms.Sneh Devi, Ms.Juhi Gupta &Ms. Meenakshi	Edited	Indu Book Services Pvt. Ltd.	978-81- 952023-3-1	National	NA
Dominance of Web Assessment and Evaluation in the Existing Education System	Dr. Ritu Bakshi, Ms.Juhi Gupta, Ms.Sneh Devi &Ms. Meenakshi	Edited	Indu Book Services Pvt. Ltd.	978-81- 952023-3-1	National	NA
Covid-19 and Sense of Brotherhood: Exemplary Case-Studies	Sneh Devi & Ritu Bakshi	Edited	Indu Book Services Pvt. Ltd.	978-93- 91377-16-8	National	NA
Value education : Need of the hour	Dr.Ritu Bakshi &Meenaksh i	Edited	Indu Book Services Pvt. Ltd.	978-93- 91377-16-8	National	NA
Building enabling ecosystem for	Dr. Ritu Bakshi &Meenakshi	Edited	Kunal Publishers	978-93- 95651-46-2	National	NA

			1		T
scheduled tribe					
girls and					
women:					
Challenges and					
future					
prospects					
p. 65p 66t6					
Prof. J.N.Baliya					
		SREIT			
Modern		Publications	978-81-		
Educational		SHIMLA.	9109- 423-	National	
Measurement		2007		INACIONAL	
and Evaluation			7		
	Authored				
Dynamics of		ODELT	978-81-		
Curriculum		SREIT	9109- 425-	National	
Development	ا حالار ۱	Publications,	1	National	
Development	Authored	SHIMLA	1		
Micro Teaching		SREIT	978-81-		
-Applications		Publications	9109- 428-	National	
and Practices	Authored	SHIMLA	2		
and i ractices	Additioned	STINVIE X	_		
Emerging		Saksham	978-81-		
Issues in				Matianal	
Curriculum		International	8947- 815-	National	
Development	Authored	J&K	X		
·					
Tribal		Radha			
Education in		Publications	978-81-	National	
India : Issues			7487-845-8	National	
and Challenges	Authored	New Delhi			
Education in		Abhijeet	978-93-		
Comprehensive		Publications,	5074-118-4	National	
Perspectives	Authored	New Delhi	30, 4 110 4		
Practicing					
_		Indu Book			
Action		Indu Book	070.01		
Research – A		Services Pvt	978-81-	National	
resource Book		Ltd, New	952023-1-7		
for Reflective		Delhi			
Practicetioners	Authored				
Enhancing			079 02		
Pedagogical		Indu Book	978-93 -	National	
	Authored	Services Pvt	91377-37-5		
Skills in					

Mathematics –			Ltd, New			
A Resource			Delhi			
Book						
Development						
and			Indu Book			
Standardizatio			Services Pvt	978-81-	National	
n of Tools of			Ltd, New	952023-3-1	National	
Research in			Delhi			
Social Science		Authored				
Human values			Indu Book			
& Human			Services Pvt	978-93-		
rights Amidst			Ltd, New	91377-16-8	National	
COVID -19			Delhi	313//-10-0		
Pandemics		Authored	Deini			
Dr.Aman						
A Discourse on	Edited Book		978-93-82420-	74-3	Kunal Books	(National Publisher), New
Value	Edited Book		978-93-82420-	74-3	Kunal Books Delhi.	(National Publisher), New
	Edited Book		978-93-82420-	74-3		(National Publisher), New
Value	Edited Book		978-93-82420-	74-3		(National Publisher), New
Value	Edited Book		978-93-82420-	74-3		(National Publisher), New
Value Education Impact Of	MEANINGFU		978-93-82420- ISBN: 978-93-		Delhi. Twenty First 0	(National Publisher), New Century Publications
Value Education					Delhi.	
Value Education Impact Of	MEANINGFU				Delhi. Twenty First 0	
Value Education Impact Of Covid 19 Pandemic on Secondary	MEANINGFU				Delhi. Twenty First 0	
Value Education Impact Of Covid 19 Pandemic on	MEANINGFU				Delhi. Twenty First 0	
Value Education Impact Of Covid 19 Pandemic on Secondary	MEANINGFU	1		90953-42-4	Delhi. Twenty First (Patiala	
Value Education Impact Of Covid 19 Pandemic on Secondary Education	MEANINGFU EDUCATION	s and	ISBN: 978-93-	90953-42-4	Delhi. Twenty First (Patiala	Century Publications
Value Education Impact Of Covid 19 Pandemic on Secondary Education Issues Of	MEANINGFU EDUCATION Human Rights	s and s (A	ISBN: 978-93-	90953-42-4	Delhi. Twenty First (Patiala Indu Book Se	Century Publications
Value Education Impact Of Covid 19 Pandemic on Secondary Education Issues Of Human Rights	MEANINGFU EDUCATION Human Rights Human Value	s and s (A	ISBN: 978-93-	90953-42-4	Delhi. Twenty First (Patiala Indu Book Se	Century Publications
Value Education Impact Of Covid 19 Pandemic on Secondary Education Issues Of Human Rights During Covid 19 Pandemic: Reflections on	MEANINGFU EDUCATION Human Rights Human Value	s and s (A	ISBN: 978-93-	90953-42-4	Delhi. Twenty First (Patiala Indu Book Se	Century Publications
Value Education Impact Of Covid 19 Pandemic on Secondary Education Issues Of Human Rights During Covid 19 Pandemic:	MEANINGFU EDUCATION Human Rights Human Value	s and s (A	ISBN: 978-93-	90953-42-4	Delhi. Twenty First (Patiala Indu Book Se	Century Publications

ISBN: 978-93-91377-16-8

Indu Book Services Pvt.Ltd.(New

Delhi)

Human Rights and

Human Values (A

Resource Book)

Cooperative

Learning: A Pedagogical

Approach in Enhancing Human Values

Transformation Of Teaching Process Making Human Values As Reference During COVID -19	Human Values & Human Rights Amidst Covid-19 Pandemics: Elevating Through Educational Interventions	ISBN: 978-93-91377-16-8	Indu Book Services Pvt. Ltd. (New Delhi)
Effective Co- Teaching: A Successful Way To Inclusion	Co-Teaching Present And Future Prospects	ISBN: 978-81-952023-6-2	Indu Book Services Pvt. Ltd. (New Delhi)
Co-Teaching: A Method Of Serving The Needs Of Diverse Learners In Inclusive Classroom Settings	Co-Teaching Present And Future Prospects	ISBN: 978-81-952023-6-2	Indu Book Services Pvt. Ltd. (New Delhi)
Exploring The Strength Of Co-Teaching As A Mechanism To Deal With 'Shadow Education'	Co-Teaching Present And Future Prospects	ISBN: 978-81-952023-6-2	Indu Book Services Pvt. Ltd. (New Delhi)
Professional Development in A Coteaching Setup: Opportunities and Challenges	Co-Teaching Present and Future Prospects	ISBN: 978-81-952023-6-2	Indu Book Services Pvt. Ltd. (New Delhi)
Recent Innovations Of Computing In Education: Emerging Collaborative	Recent Innovations In Computing	ISBN: 978-981-19-9876-8	SPRINGER

Blended			
Learning			
Models In			
India			
maia			
Reimagining	Development And	978-81-952023-1	Indu Book Services Pvt. Ltd. (New
Time and	Standardization of Tools		Delhi)
Space	for Research in Social		
Constraints	Sciences		
Using Blended			
Mode of	A Resource Book		
Assessment: A			
New Normal In			
The Eight of			
The Field of			
Assessment			
Framing The	Development and	ISBN: 978-81-952023-1	Indu Book Services Pvt. Ltd. (New
Question	Standardization of Tools		Delhi)
Paper: A	for Research in Social		_
Critical And	Sciences: A Resource		
Cautious Task	Book		
Assessment of	Development And	978-81-952023-1	Indu Book Services Pvt.Ltd.(New
Students with	Standardization of Tools		Delhi)
Special	for Research in Social		·
1 1	Tot researen in Social		
Educational	Sciences		
*	Sciences		
Educational			
Educational Needs in the	Sciences		
Educational Needs in the Inclusive Classrooms	Sciences A Resource Book		
Educational Needs in the Inclusive Classrooms Trends of	Sciences A Resource Book Development And	978-81-952023-1	Indu Book Services Pvt.Ltd.(New
Educational Needs in the Inclusive Classrooms Trends of Assessment	Sciences A Resource Book Development And Standardization of Tools	978-81-952023-1	Indu Book Services Pvt.Ltd.(New Delhi)
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation	Sciences A Resource Book Development And Standardization of Tools for Research in Social	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID	Sciences A Resource Book Development And Standardization of Tools	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science	Sciences A Resource Book Development And Standardization of Tools for Research in Social	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences	978-81-952023-1	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book		Delhi)
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights Recent	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book Proceedings of	978-81-952023-1 ISSN 1876-1119/	`
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights Recent Innovations of	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book Proceedings of International Conference		Delhi)
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights Recent Innovations of Computing in	A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book Proceedings of International Conference on Recent Innovations in	ISSN 1876-1119/	Delhi)
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights Recent Innovations of Computing in Education:	Sciences A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book Proceedings of International Conference	ISSN 1876-1119/ ISBN 978-981-19-9876-8	Delhi)
Educational Needs in the Inclusive Classrooms Trends of Assessment and Evaluation during COVID 19 Period in Social Science Subject and Future Insights Recent Innovations of Computing in	A Resource Book Development And Standardization of Tools for Research in Social Sciences A Resource Book Proceedings of International Conference on Recent Innovations in	ISSN 1876-1119/ ISBN 978-981-19-9876-8	Delhi)

Blended Learning Models in India		https://doi.org/10.1007/978- 981-19-9876-8	
Violation Of Childern's Rights During Covid Times: Role Of Government In Safeguarding Children's Right To Education	Human Values & Human Rights Amidst Covid-19 Pandemics: Elevating Through Educational Interventions	ISBN: 978-93-91377-16-8	Indu Book Services Pvt. Ltd. (New Delhi)
Role of Teachers in Inculcation and Encouragement of Values among Schedule Tribes through Life-Skills	Human Values and Human Rights Amidst Covid-19 Pandemics	ISBN: 978-93-91377-16-8	Indu Book Service
Role of Teachers in Promoting Value Education at the School Level	Human Values and Human Rights Amidst Covid-19 Pandemics	ISBN: 978-93-91377-16-8	Indu Book Services
Issues and Challenges Regarding the Status of Education Among Schedule Tribes in India	Education or Inclusion and Equity, Issues, Concerns and Contemporary Research	ISBN:9788-93-91308-51-3	VL Media Solutions

		-	
Life Skill	National Education	, ISBN- 978-93-95606-00-4	Global Publishing House
Education; A	Policy 2020		
Boon for			
Creating Good			
Citizenship			
Online	Implementation of Pm-	ISBN: 978-81-961760-1-3	Asian Press Book
Assessment at	E Vidya for Ensuring		
School Level:	Equitable Education:		
Exploring	Issues and Challenges		
Technical	and Concerns		
Possibilities for			
Formative			
Assessment			
Impact Of	MEANINGFUL	ISBN: 978-93-90953-42-4	Twenty First Century Publications
Covid 19	EDUCATION		Patiala
Pandemic on			
Secondary			
Education			

Prof. AsitK.Mantry

Gender Equality and	Joint	978- 9380633- 25-	SAAD	2014
Women Empowerment		1	Publications,	
			Delhi, India	
Right to education: Access	Joint	978-81-93165-11-	Ankur Book	2015
and quality		9	Distributors,	
			Delhi, India	
TT 1' c' No 1c' 1' ' 1'	G: 1	070 02 5224 062	T7 1	2022
Holistic, Multi-disciplinary	Single	978-93-5324-963-	Kalpaz	2023
and Futuristic Aspects of		2	Publications,	
Education in the light of			Delhi	
NEP 2020				
Quality in Higher	Single	978-93- 80144-	Higher	2012
Education: The Role of		81-8	Education in	
Teachers			India: Roots and	
			Routes (Ed.),	

	<u> </u>			
			Twenty First Century Publications, Patiala, Punjab, India	
Quality concerns and teaching practice	Single	978- 9380633- 17- 6	Empowering teacher educators for quality teacher education (ed), SAAD Publications, Delhi, India	2014
Integrating ICT with teacher-education with special reference to the thrust areas for the 12th FYP	Single	978-93- 82884- 19-4	Pre-service teacher education in contemporary Indian society (Ed.), SR Publishing House New Delhi, India	2014
Simulated Social Skill Training (SSST) for the modification of Pupil Teachers Behaviour: Concept and Significance	First	978-93- 92108- 24-2	Rudra Publishers and Distributors, New Delhi	2022
Re-establishing the status of teachers in the light of NEP-2020	Single	978-1- 63640- 008- 2	An Editorial Book on NEP 2020:Reflections from Stakeholders by White Falcon	2020